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Solution

• PrimaryKey
• An object as a lock in ConservativeLockTable

• Hash tablename and keyentrymap into a hashcode to 
represent this object
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Solution

• StoreProcedure
• Abstract function  prepareKeys() 

• prepare Read Write set of txn

• E.g. MicroTxnProc

• scheduleTransactionSerially()

• Deterministic ordering 5



Solution

• ConservativeConcurrencyMgr
• bookReadKey/ bookWriteKey

• acquireBookLocks

• releaseLocks
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Solution

• ConservativeLockTable
• requestQueue maintain deterministic property
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Deterministic Order
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Challenge of TPC-C
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• Team3

http://team3_assignment5_report1.pdf
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Questions

1. Can solution guarantee that each transaction is 
processed in ascending order?

2. Declaring prepareKey in SP may cause some 
subclass override an useless empty function.

3. Instead of using PrimaryKey, use recordID or blkID 
to build RW set.

4. Without creating new locktable, use the original 
one.
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